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- Draw the spectrum of out put ( i agnibude and p ka;c)
- What is the output power c11551pated on the load
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Question #2 (7marks) X(Gw)
The Fourier transform for signal x(t) is given by
For system represented by the following block diagram

1~ sketch Fourier transform for signal y1(t) and y2(t)

2=Sketch Y2(w) ‘E T T | ‘l “ ‘T
3- Write the function of y2(t) | |
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Question # 3 ( 6 marks) ’ X Ve
For circuit shown, knowing that all initial values are zero 7 \/W\ '
Find : 1- transfer function related Vo to Vin
2-Vo(t) if Vin(t) = u(t-1) 3 , 5 3
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